

## County Distribution Detail Report through 09/02/2020

## Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	1,097	1,896	25	3,018	\$3,772.50	\$108.87	\$3,663.63	0.70	\$2,564.54
							Entity Tot	al:	\$2,564.54
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,564.54
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	3,629	10,237	247	14,113	\$17,641.25	\$379.07	\$17,262.18	0.70	\$12,083.53
							Entity Tot	al:	\$12,083.53
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$12,083.53
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	904	1,097	6	2,007	\$2,508.75	\$58.53	\$2,450.22	0.70	\$1,715.15
							Entity Tot	al:	\$1,715.15
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,715.15
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	1,882	3,937	12	5,831	\$7,288.75	\$147.18	\$7,141.57	0.70	\$4,999.10
							Entity Tot	al:	\$4,999.10
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,999.10
Brookings									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	10,440	21,049	166	31,655	\$39,568.75	\$845.83	\$38,722.92	0.70	\$27,106.04
							Entity Tot	al:	\$27,106.04
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$27,106.04
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	9,417	25,938	289	35,644	\$44,555.00	\$941.96	\$43,613.04	0.70	\$30,529.13
							Entity Tot	al:	\$30,529.13
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$30,529.13
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	2,179	3,612	6	5,797	\$7,246.25	\$146.77	\$7,099.48	0.70	\$4,969.64
							Entity Tot	al:	\$4,969.64
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,969.64
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	544	469	3	1,016	\$1,270.00	\$25.99	\$1,244.01	0.70	\$870.81
							Entity Tot	al:	\$870.81
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$870.81
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	2,329	6,345	53	8,727	\$10,908.75	\$241.37	\$10,667.38	0.70	\$7,467.17
							Entity Tot	al:	\$7,467.17
							Adjustme	nt:	\$0.00

	Total Amount:	\$7,467.17
Campbell		

Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	698	1,402	11	2,111	\$2,638.75	\$55.33	\$2,583.42	0.70	\$1,808.39
							Entity Tota	al:	\$1,808.39
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,808.39
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	2,599	5,422	23	8,044	\$10,055.00	\$206.20	\$9,848.80	0.70	\$6,894.16
							Entity Tota	al:	\$6,894.16
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,894.16
City of Box Elder, M	eade Cc								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	16	2,692	45	2,753	\$3,441.25	\$82.60	\$3,358.65	0.70	\$2,351.06
							Entity Tota	al:	\$2,351.06
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,351.06
City of North Sioux	City, Un								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	596	2,692	75	3,363	\$4,203.75	\$102.05	\$4,101.70	0.70	\$2,871.19
							Entity Tota	al:	\$2,871.19
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,871.19
City of Pierre, Hugh	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	2,087	5,937	1,285	9,309	\$11,636.25	\$216.10	\$11,420.15	0.70	\$7,994.11
							Entity Tota	al:	\$7,994.11

Adjustment:	\$0.00

Total Amount:	\$7,994.11
i otai / tilloaliti	Ψ.,ου

City of Sioux	Falls,	Linco	n
---------------	--------	-------	---

7/2020

,									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	2,845	26,011	1,710	30,566	\$38,207.50	\$793.59	\$37,413.91	0.70	\$26,189.74
							Entity Tota	al:	\$26,189.74
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$26,189.74
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	1,295	2,320	15	3,630	\$4,537.50	\$92.09	\$4,445.41	0.70	\$3,111.79
							Entity Tota	al:	\$3,111.79
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,111.79
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	1,612	7,474	206	9,292	\$11,615.00	\$244.81	\$11,370.19	0.70	\$7,959.13
							Entity Tota	al:	\$7,959.13
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$7,959.13
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	7,254	18,738	600	26,592	\$33,240.00	\$721.02	\$32,518.98	0.70	\$22,763.29
							Entity Tota	al:	\$22,763.29
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$22,763.29
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

\$1,187.50

\$1,161.51

\$25.99

0.70

\$813.06

628

314

8

950

							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$813.06
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	3,322	5,696	36	9,054	\$11,317.50	\$252.68	\$11,064.82	0.70	\$7,745.37
							Entity Tota	al:	\$7,745.37
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,745.37
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	4,733	13,930	238	18,901	\$23,626.25	\$493.17	\$23,133.08	0.70	\$16,193.16
							Entity Tota	al:	\$16,193.16
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$16,193.16
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	2,046	3,524	18	5,588	\$6,985.00	\$141.53	\$6,843.47	0.70	\$4,790.43
							Entity Tota	al:	\$4,790.43
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,790.43
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	1,727	2,917	21	4,665	\$5,831.25	\$125.90	\$5,705.35	0.70	\$3,993.75
							Entity Tota	al:	\$3,993.75
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,993.75
Douglas									

Entity Total:

\$813.06

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	1,160	2,132	7	3,299	\$4,123.75	\$85.75	\$4,038.00	0.70	\$2,826.60
							Entity Tota	al:	\$2,826.60
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,826.60
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	1,253	2,855	20	4,128	\$5,160.00	\$104.23	\$5,055.77	0.70	\$3,539.04
							Entity Tota	al:	\$3,539.04
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,539.04
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	2,958	4,568	22	7,548	\$9,435.00	\$195.22	\$9,239.78	0.70	\$6,467.85
							Entity Tota	al:	\$6,467.85
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,467.85
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	727	1,521	5	2,253	\$2,816.25	\$57.27	\$2,758.98	0.70	\$1,931.29
							Entity Tota	al:	\$1,931.29
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,931.29
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	2,017	5,242	29	7,288	\$9,110.00	\$185.48	\$8,924.52	0.70	\$6,247.16
							Entity Tota	al:	\$6,247.16
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,247.16

## Gregory

C. ogo. y									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	1,673	3,469	15	5,157	\$6,446.25	\$141.50	\$6,304.75	0.70	\$4,413.33
							Entity Tot	al:	\$4,413.33
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,413.33
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	1,007	1,362	5	2,374	\$2,967.50	\$59.56	\$2,907.94	0.70	\$2,035.56
							Entity Tot	al:	\$2,035.56
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,035.56
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	1,609	3,659	12	5,280	\$6,600.00	\$133.01	\$6,466.99	0.70	\$4,526.89
							Entity Tot	al:	\$4,526.89
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,526.89
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	1,048	2,582	14	3,644	\$4,555.00	\$97.47	\$4,457.53	0.70	\$3,120.27
							Entity Tot	al:	\$3,120.27
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,120.27
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	855	2,958	31	3,844	\$4,805.00	\$99.32	\$4,705.68	0.70	\$3,293.98
							Entity Tot	al:	\$3,293.98
							Adjustme	nt:	\$0.00

Total Amount:	\$3,293.98
i otai Ailioulit.	φ <b>ວ,</b> ∠ອວ.ອັບ

7/2020

628

881

J									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	676	860	2	1,538	\$1,922.50	\$48.93	\$1,873.57	0.70	\$1,311.50
							Entity Tota	al:	\$1,311.50
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,311.50
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	2,052	8,340	153	10,545	\$13,181.25	\$312.60	\$12,868.65	0.70	\$9,008.06
							Entity Tota	al:	\$9,008.06
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$9,008.06
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	2,818	4,953	39	7,810	\$9,762.50	\$209.09	\$9,553.41	0.70	\$6,687.39
							Entity Tota	al:	\$6,687.39
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$6,687.39
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	595	1,100	5	1,700	\$2,125.00	\$43.10	\$2,081.90	0.70	\$1,457.33
							Entity Tota	al:	\$1,457.33
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,457.33
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1,513

4

\$1,891.25

\$38.23

\$1,853.02

0.70

\$1,297.11

							Entity Tota	al:	\$1,297.11
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,297.11
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	812	1,249	5	2,066	\$2,582.50	\$52.09	\$2,530.41	0.70	\$1,771.29
							Entity Tota	al:	\$1,771.29
							Adjustme	nt:	\$0.00
							Total Amount:		\$1,771.29
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	546	680	4	1,230	\$1,537.50	\$30.87	\$1,506.63	0.70	\$1,054.64
							Entity Tota	al:	\$1,054.64
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,054.64
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	1,261	3,988	66	5,315	\$6,643.75	\$135.88	\$6,507.87	0.70	\$4,555.51
							Entity Tota	al:	\$4,555.51
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$4,555.51
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	2,621	8,931	1,389	12,941	\$16,176.25	\$299.95	\$15,876.30	0.70	\$11,113.41
							Entity Tota	al:	\$11,113.41
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$11,113.41
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Percent

Lines

7/2020	7,595	16,939	200	24,734	\$30,917.50	\$638.51	\$30,278.99	0.70	\$21,195.29
							Entity Tota	al:	\$21,195.29
							Adjustmer		\$0.00
							Total Amo		\$21,195.29
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	4,762	23,264	1,482	29,508	\$36,885.00	\$815.50	\$36,069.50	0.70	\$25,248.65
							Entity Tota	al:	\$25,248.65
							Adjustment:		\$0.00
							Total Amo	unt:	\$25,248.65
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	1,062	1,754	218	3,034	\$3,792.50	\$83.33	\$3,709.17	0.70	\$2,596.42
							Entity Tota	al:	\$2,596.42
							Adjustmer	nt:	\$0.00
							Adjustmer Total Amo		\$0.00 \$2,596.42
Marshall							-		
Marshall Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	-		
	Telecom Lines	Wireless Lines		Total Lines 4,450	<b>Surcharge</b> \$5,562.50	Admin Fee \$114.83	Total Amo	unt: Entity	\$2,596.42
Reporting Period			Lines				Total Amo	Entity Percent 0.70	\$2,596.42 Entity Amount
Reporting Period			Lines				Total Amo Net Surcharge \$5,447.67	Entity Percent 0.70	\$2,596.42  Entity Amount  \$3,813.37
Reporting Period			Lines				Total Amo Net Surcharge \$5,447.67 Entity Total	Entity Percent 0.70 al:	\$2,596.42  Entity Amount \$3,813.37  \$3,813.37
Reporting Period			Lines				Total Amo Net Surcharge \$5,447.67 Entity Total	Entity Percent 0.70 al:	\$2,596.42  Entity Amount \$3,813.37 \$3,813.37 \$0.00
Reporting Period 7/2020			Lines				Total Amo Net Surcharge \$5,447.67 Entity Total	Entity Percent 0.70 al:	\$2,596.42  Entity Amount \$3,813.37 \$3,813.37 \$0.00
Reporting Period 7/2020  McCook	1,586	2,852	Lines 12 VOIP	4,450	\$5,562.50	\$114.83	Total Amo  Net Surcharge  \$5,447.67  Entity Total Adjustment	Entity Percent 0.70 al: nt: unt:	\$2,596.42  Entity Amount \$3,813.37 \$3,813.37 \$0.00 \$3,813.37
Reporting Period 7/2020  McCook Reporting Period	1,586 Telecom Lines	2,852 Wireless Lines	VOIP Lines	4,450 Total Lines	\$5,562.50 Surcharge	\$114.83  Admin Fee	Total Amo  Net Surcharge  \$5,447.67  Entity Total Adjustment Total Amo  Net Surcharge	Entity Percent 0.70 al: unt: Entity Percent 0.70	\$2,596.42  Entity Amount \$3,813.37 \$3,813.37 \$0.00 \$3,813.37
Reporting Period 7/2020  McCook Reporting Period	1,586 Telecom Lines	2,852 Wireless Lines	VOIP Lines	4,450 Total Lines	\$5,562.50 Surcharge	\$114.83  Admin Fee	Total Amo  Net Surcharge  \$5,447.67  Entity Total Adjustmen Total Amo  Net Surcharge  \$7,709.77	Entity Percent 0.70 al: nt: unt: Entity Percent 0.70	\$2,596.42  Entity Amount \$3,813.37 \$3,813.37 \$0.00 \$3,813.37  Entity Amount \$5,396.84
Reporting Period 7/2020  McCook Reporting Period	1,586 Telecom Lines	2,852 Wireless Lines	VOIP Lines	4,450 Total Lines	\$5,562.50 Surcharge	\$114.83  Admin Fee	Total Amo  Net Surcharge  \$5,447.67  Entity Total  Adjustment  Total Amo  Net Surcharge  \$7,709.77  Entity Total	Entity Percent 0.70 al: nt: unt: Entity Percent 0.70	\$2,596.42  Entity Amount \$3,813.37 \$3,813.37 \$0.00 \$3,813.37  Entity Amount \$5,396.84 \$5,396.84

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	960	1,537	4	2,501	\$3,126.25	\$74.36	\$3,051.89	0.70	\$2,136.32
							Entity Tot	al:	\$2,136.32
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,136.32
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	3,395	18,023	266	21,684	\$27,105.00	\$584.29	\$26,520.71	0.70	\$18,564.50
							Entity Tot	al:	\$18,564.50
							Adjustme	nt:	\$0.00
							Total Amount:		\$18,564.50
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	564	668	0	1,232	\$1,540.00	\$30.81	\$1,509.19	0.70	\$1,056.43
							Entity Tot	al:	\$1,056.43
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,056.43
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	959	1,566	4	2,529	\$3,161.25	\$63.60	\$3,097.65	0.70	\$2,168.36
							Entity Tot	al:	\$2,168.36
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,168.36
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	40,777	149,258	4,071	194,106	\$242,632.50	\$5,134.37	\$237,498.13	0.70	\$166,248.69
							Entity Tot	al:	\$166,248.69
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$166,248.69

IVI	ooav	

,									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	1,237	4,540	25	5,802	\$7,252.50	\$145.80	\$7,106.70	0.70	\$4,974.69
							Entity Tot	al:	\$4,974.69
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,974.69
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2020	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
7/2020	24,187	79,799	1,550	105,536	\$131,920.00	\$2,797.44	\$129,122.56	0.70	\$90,385.79
							Entity Tot	al:	\$90,387.54
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$90,387.54
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	1,716	2,259	7	3,982	\$4,977.50	\$109.72	\$4,867.78	0.70	\$3,407.45
							Entity Tot	al:	\$3,407.45
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,407.45
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	1,114	1,764	9	2,887	\$3,608.75	\$72.91	\$3,535.84	0.70	\$2,475.09
							Entity Tot	al:	\$2,475.09
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,475.09
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	3,280	5,056	14	8,350	\$10,437.50	\$231.17	\$10,206.33	0.70	\$7,144.43
							Entity Tot	al:	\$7,144.43

Adjustment:	\$0.00

0.70

\$51.34

\$73.34

Total Amount: \$7,144.43

Sanborn
---------

7/2020

Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	760	1,758	2	2,520	\$3,150.00	\$63.09	\$3,086.91	0.70	\$2,160.84
							Entity Tota	al:	\$2,160.84
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,160.84
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	1,836	4,551	21	6,408	\$8,010.00	\$163.82	\$7,846.18	0.70	\$5,492.33
							Entity Tota	al:	\$5,492.33
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,492.33
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	708	2,167	29	2,904	\$3,630.00	\$76.29	\$3,553.71	0.70	\$2,487.60
							Entity Tota	al:	\$2,487.60
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,487.60
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	617	1,162	4	1,783	\$2,228.75	\$45.21	\$2,183.54	0.70	\$1,528.48
							Entity Tota	al:	\$1,528.48
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,528.48
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

65

0

3

68

\$85.00

\$11.66

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$51.34
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	2,335	3,865	15	6,215	\$7,768.75	\$160.71	\$7,608.04	0.70	\$5,325.63
							Entity Tota	al:	\$5,325.63
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,325.63
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	2,131	6,151	16	8,298	\$10,372.50	\$209.93	\$10,162.57	0.70	\$7,113.80
							Entity Tota	al:	\$7,113.80
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,113.80
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	2,970	11,067	557	14,594	\$18,242.50	\$446.62	\$17,795.88	0.70	\$12,457.12
							Entity Tota	al:	\$12,457.12
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$12,457.12
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	686	3,663	73	4,422	\$5,527.50	\$115.47	\$5,412.03	0.70	\$3,788.42
							Entity Tota	al:	\$3,788.42
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,788.42
Yankton									

Entity Total:

\$51.34

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2020	4,918	16,023	273	21,214	\$26,517.50	\$572.26	\$25,945.24	0.70	\$18,161.67
							Entity Tota	l:	\$18,161.67
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$18,161.67
Totals	202,056	599,302	15,801	817,159	\$1,021,448.75	\$ 21,701.36	\$ 999,747.39		